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QUESTION 1

Given the code fragment: 

System.out.printIn("Result: " + 2 + 3 + 5); System.out.printIn("Result: " + 2 + 3 * 5); 

What is the result? 

A. Result: 10 Result: 30 

B. Result: 10 Result: 25 

C. Result: 235 Result: 215 

D. Result: 215 Result: 215 

E. Compilation fails 

Correct Answer: C 

First line: 

System.out.println("Result: " + 2 + 3 + 5); 

String concatenation is produced. 

Second line: 

System.out.println("Result: " + 2 + 3 * 5); 

3*5 is calculated to 15 and is appended to string 2. Result 215. 

The output is: 

Result: 235 

Result: 215 

Note #1: 

To produce an arithmetic result, the following code would have to be used: 

System.out.println("Result: " + (2 + 3 + 5)); 

System.out.println("Result: " + (2 + 1 * 5)); 

run: 

Result: 10 

Result: 7 

Note #2: 

If the code was as follows: 
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System.out.println("Result: " + 2 + 3 + 5"); 

System.out.println("Result: " + 2 + 1 * 5"); 

The compilation would fail. There is an unclosed string literal, 5", on each line. 

 

QUESTION 2

Which two actions will improve the encapsulation of a class? 

A. Changing the access modifier of a field from public to private 

B. Removing the public modifier from a class declaration 

C. Changing the return type of a method to void 

D. Returning a copy of the contents of an array or ArrayList instead of a direct reference 

Correct Answer: AD 

Reference: http://www.tutorialspoint.com/java/java_access_modifiers.htm 

 

QUESTION 3

int [] array = {1,2,3,4,5}; 

for (int i: array) { 

if ( i 

keyword1 ; 

} 

System.out.println(i); 

if ( i == 3) { 

keyword2 ; 

}} 

What should keyword1 and keyword2 be respectively, in oreder to produce output 2345? 

A. continue, break 

B. break, break 

C. break, continue 

D. continue, continue 

Correct Answer: D 

Latest 1Z0-803 Dumps | 1Z0-803 PDF Dumps | 1Z0-803 VCE Dumps                                3 / 6

https://www.lead4pass.com/1Z0-803.html
https://www.lead4pass.com/1Z0-803.html
https://www.lead4pass.com/1Z0-803.html


https://www.lead4pass.com/1Z0-803.html
2021 Latest lead4pass 1Z0-803 PDF and VCE dumps Download

 

QUESTION 4

Given: 

What is the result? 

A. Compilation fails 

B. The code compiles, but does not execute. 

C. Paildrome 

D. Wow 

E. Mom 

Correct Answer: B 

 

QUESTION 5

Given: 
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What is the result? 

A. 2 4 6 8 10 12 

B. 2 4 6 8 10 12 14 

C. Compilation fails 

D. The program prints multiple of 2 infinite times 

E. The program prints nothing 

Correct Answer: B 
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